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QUESTION 1

Which statement is true regarding intermediate events? 

A. Intermediate events can only be included in services flows. 

B. Intermediate events can only be included in the process flow. 

C. Timer is the only implementation option for an intermediate event. 

D. Intermediate events can be attached to activities within the process or included in the process flow. 

Correct Answer: A 

 

QUESTION 2

Which statement is true regarding IBM BPM\\'s support of Swagger definitions for the REST APIs? 

A. There is no Swagger definition available for the REST API. 

B. The Swagger definition is only available for IBM BPM on Cloud installations. 

C. The Swagger definition is only available if the IBM BPM installation includes a web server that hosts the Swagger UL 

D. The Swagger definition is available via a REST API call or via a URL if the IBM BPM installation includes a web
server that hosts the Swagger UL 

Correct Answer: A 

 

QUESTION 3

When creating an External Service, how can a REST service be discovered? 

A. From an imported .ear file 

B. From a UDDI Service call 

C. From a local WSDL specification file 

D. From a local OpenAPI2.0 specification file 

Correct Answer: C 

 

QUESTION 4

A developer is working on a client side human service that is being used as a task for a process. A Service 

Flow is integrated to update the client side human service variables with latest server values in the process 
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instance variables. 

What implementation should the developer follow to achieve this outcome? 

A. In the implementation behavior of service flow, enable \\'Map input data automatically\\'. 

B. Add javascript code to update client side human service variables in pre and post execution scripts of integrated
service flow. 

C. In the implementation behavior of service flow, set Work with the process instance variables to \\'Refresh the
instance variables\\'. 

D. In the implementation behavior of service flow, set Work with the process instance variables to \\'Send variable
updates to the instance\\'. 

Correct Answer: D 

 

QUESTION 5

To change the state of an offline Process Server to online, a developer needs to set the heartBeatInterval to what
value? 

A. equal to zero 

B. leave it empty 

C. less than zero 

D. greater than zero 

Correct Answer: C 
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